
SAP ABAP table ROXKK40045 {IS-M/AM: Media Contact Person}

ROXKK40045

MANDT [CLNT (3)]

GPNR [CHAR (10)]

PARNR [CHAR (10)]

REF_GPNR [CHAR (10)]

ANRED [CHAR (2)]

ADRND [CHAR (10)]

ADRNP [CHAR (10)]

TITEL [CHAR (15)]

NAMZU [CHAR (15)]

VORSW [CHAR (15)]

PARLA [LANG (1)]

PAVIP [CHAR (1)]

ABTNR [CHAR (4)]

PAFKT [CHAR (2)]

PARVO [CHAR (1)]

BRYTH [CHAR (4)]

AKVER [CHAR (2)]

KONTGRP [CHAR (2)]

KAMPAGNE [CHAR (6)]

TITEL_AMTL [CHAR (2)]

PAPOS [CHAR (2)]

SPERRVM [CHAR (1)]

PAVERT1 [CHAR (2)]

PAVERT2 [CHAR (2)]

PAVERT3 [CHAR (2)]

PAVERT4 [CHAR (2)]

PAVERT5 [CHAR (2)]

PAVERT6 [CHAR (2)]

PAVERT7 [CHAR (2)]

PAVERT8 [CHAR (2)]

PAVERT9 [CHAR (2)]

PAVERT10 [CHAR (2)]

PARH1 [CHAR (2)]

PARH2 [CHAR (2)]

PARH3 [CHAR (2)]

PARH4 [CHAR (2)]

PARH5 [CHAR (2)]

PAKN1 [CHAR (3)]

PAKN2 [CHAR (3)]

PAKN3 [CHAR (3)]

PAKN4 [CHAR (3)]

PAKN5 [CHAR (3)]

SAPBP_REF [CHAR (10)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 ROXKK40045-SAPBP_REF = BUT000-PARTNER 

0..N

1

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 ROXKK40045-GPNR = JGTGPNR-GPNR 

0..N

1

 ROXKK40045-REF_GPNR = JGTGPNR-GPNR 0..N

{0,1}

JGTSADR

MANDT [CLNT (3)]

ADRNR [CHAR (10)]

 ROXKK40045-ADRND = JGTSADR-ADRNR 

{0,1}

1

 ROXKK40045-ADRNP = JGTSADR-ADRNR {0,1}

1

T000

MANDT [CLNT (3)]

 ROXKK40045-MANDT = T000-MANDT 
0..N

1

T002

SPRAS [LANG (1)]

 ROXKK40045-PARLA = T002-SPRAS 
0..N

{0,1}

T535N

MANDT [CLNT (3)]

ART [CHAR (1)]

TITEL [CHAR (15)]

 ROXKK40045-NAMZU = T535N-TITEL 

0..N

0..N

 ROXKK40045-TITEL = T535N-TITEL 0..N

0..N

 ROXKK40045-VORSW = T535N-TITEL 

0..N

0..N

TJG43

MANDT [CLNT (3)]

JANRED [CHAR (2)]
 ROXKK40045-ANRED = TJG43-JANRED 0..N

{0,1}

TJJAMTL

MANDT [CLNT (3)]

TITEL [CHAR (2)]

 ROXKK40045-TITEL_AMTL = TJJAMTL-TITEL 
0..N

0..N
TJJKAMP

MANDT [CLNT (3)]

KAMPAGNE [CHAR (6)]

 ROXKK40045-KAMPAGNE = TJJKAMP-KAMPAGNE 

0..N

0..N

TJJKGRP

MANDT [CLNT (3)]

KONTGRP [CHAR (2)]

 ROXKK40045-KONTGRP = TJJKGRP-KONTGRP 

0..N

1

TJJPOS

MANDT [CLNT (3)]

PAPOS [CHAR (2)]

 ROXKK40045-PAPOS = TJJPOS-PAPOS 

0..N
0..N

TJJSPVM

MANDT [CLNT (3)]

SPERRVM [CHAR (1)]

 ROXKK40045-SPERRVM = TJJSPVM-SPERRVM 

0..N

0..N

TJJVERT

MANDT [CLNT (3)]

PAVERT [CHAR (2)]

 ROXKK40045-PAVERT1 = TJJVERT-PAVERT 

0..N

0..N  ROXKK40045-PAVERT10 = TJJVERT-PAVERT 

0..N

0..N  ROXKK40045-PAVERT2 = TJJVERT-PAVERT 

0..N

0..N
 ROXKK40045-PAVERT3 = TJJVERT-PAVERT 

0..N0..N

 ROXKK40045-PAVERT4 = TJJVERT-PAVERT 0..N
0..N  ROXKK40045-PAVERT5 = TJJVERT-PAVERT 

0..N0..N
 ROXKK40045-PAVERT6 = TJJVERT-PAVERT 0..N0..N

 ROXKK40045-PAVERT7 = TJJVERT-PAVERT 

0..N

0..N

 ROXKK40045-PAVERT8 = TJJVERT-PAVERT 

0..N

0..N

 ROXKK40045-PAVERT9 = TJJVERT-PAVERT 

0..N

0..N

TPFK

MANDT [CLNT (3)]

PAFKT [CHAR (2)]

 ROXKK40045-PAFKT = TPFK-PAFKT 

0..N

{0,1}

TSAB

MANDT [CLNT (3)]

ABTNR [CHAR (4)]

 ROXKK40045-ABTNR = TSAB-ABTNR 

0..N

{0,1} TVAV

MANDT [CLNT (3)]

AKVER [CHAR (2)]
 ROXKK40045-AKVER = TVAV-AKVER 0..N

{0,1}

TVBR

MANDT [CLNT (3)]

BRYTH [CHAR (4)]

 ROXKK40045-BRYTH = TVBR-BRYTH 

0..N

{0,1}

TVIP

MANDT [CLNT (3)]

PAVIP [CHAR (1)]

 ROXKK40045-PAVIP = TVIP-PAVIP 

0..N

{0,1}

TVP0

MANDT [CLNT (3)]

PAAT0 [CHAR (3)]

 ROXKK40045-PAKN5 = TVP0-PAAT0 

0..N

{0,1}

TVP2

MANDT [CLNT (3)]

PAAT2 [CHAR (2)]

 ROXKK40045-PARH2 = TVP2-PAAT2 

0..N

{0,1}

TVP3

MANDT [CLNT (3)]

PAAT3 [CHAR (2)]

 ROXKK40045-PARH3 = TVP3-PAAT3 

0..N

{0,1}

TVP4

MANDT [CLNT (3)]

PAAT4 [CHAR (2)]

 ROXKK40045-PARH4 = TVP4-PAAT4 

0..N

{0,1}

TVP5

MANDT [CLNT (3)]

PAAT5 [CHAR (2)]

 ROXKK40045-PARH5 = TVP5-PAAT5 

0..N

{0,1}

TVP6

MANDT [CLNT (3)]

PAAT6 [CHAR (3)]

 ROXKK40045-PAKN1 = TVP6-PAAT6 

0..N

{0,1}

TVP7

MANDT [CLNT (3)]

PAAT7 [CHAR (3)]

 ROXKK40045-PAKN2 = TVP7-PAAT7 

0..N

{0,1}

TVP8

MANDT [CLNT (3)]

PAAT8 [CHAR (3)]

 ROXKK40045-PAKN3 = TVP8-PAAT8 

0..N

{0,1}

TVP9

MANDT [CLNT (3)]

PAAT9 [CHAR (3)]

 ROXKK40045-PAKN4 = TVP9-PAAT9 

0..N

{0,1}

TVPH

MANDT [CLNT (3)]

PARHO [CHAR (2)]

 ROXKK40045-PARH1 = TVPH-PARHO 

0..N

{0,1}

TVPV

MANDT [CLNT (3)]

PARVO [CHAR (1)]

 ROXKK40045-PARVO = TVPV-PARVO 

0..N

{0,1}


